The eighth problem set

\Wednesday, November 26, 2014
3:21 PM

1. Su:ﬂ:ose, N<18n ond (1,2) € N. “Prove Fhot N:Sn.

(H(‘n‘l’, For O\V\a ’C(-&') let ©res, be s:t.

OCH =7 and oy =} -
And comsider O (L2 0"_1. Then use the fock that

ama r?ennu‘k'me s o (fmJuc‘: ot 'l‘msfasu‘-':lbns.)
2.Let $:Z —Z , $HE])=alx] .
() Pove thet b s a L\omomawrhl'sm.

(U) Find [Ichl and |ker & .

3.let H<G . Swﬂaose [G:H]:Z.?rove‘fkﬂ'
Ha G

(Hm‘l’ G\'/H = iH) 30 Hg . Proceed L)a contradichim

'L'OSLIOOO @3:'[.{:3[_‘
@Vh—EH, hﬂ quH
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Gonclude g 'Hg =H.)
4 let HSG . Show thalt am: %, XG/H—DG'/H,
m(9,H>9.H) = a3,H
s wel-debined # ondonly ® H d G
(Hint . =) YheH, H=hH = m(H gH)=mhHgH)
= gH="hgH
©) gH=gH I = f,H =98,
LH =9/H
Use the usual catecia = g H=9"Hix 3"3’=ke H)
5. Let Z(&X) =3geG | V9'eq, 99=933-
Shoo Yt Z(Q) 4 G-

6. Let (@S be the %mu? ot Skémme'\.’r"fes of -\:I\ev‘e_%u‘a\r‘

‘?6""70\80“'- C,
27ty 9 :
¢=C > . t’
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¢4
Le,f o be, ‘H\e feHCCI:‘IOY' aboud,’ ‘H\C X—aXIS O]

b be the 2% rotution  about the origin.
Let H=<b) -

@) List all the elemeds o G i fems of a

ond b . Conl,inpadicular, condude G=<a,b>.)
(11) Show that HI G-
(Hink: Let 0% be a Sammcl,‘r\j ot the (given) reqular
pertagqun= O°(1) is one of the vertices
= atfer rotating by a rultrple of 2L we

can Lm'na aa) back 1o |, re.
b* o = |

e

Dince be" IS & 58mme:hﬁj ond ~P-\5(es I
B a advnmécr% Rixes three non- Linear th‘i:s, &
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Pixes the enthive Plane. .

7.(1) Show that Si-.:ggze(t | z1=1% &5 o G
with Qomrlex mlh‘Th‘caJrnbn.
(i) Show that £.Z _,?si, Bemy — q':

27T

Is o gnm‘; Ir\laknoma(vfhl'sm cohere f;n-: e " .
(iii) Find ker ¥ and | Im £
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